



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{3}{4} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{4} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{3}{5}\right)^2 =$$

$$\left(\frac{3}{4} + \left(\frac{3}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{3}{2} + \frac{3}{5}\right)^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{3}{2} - 5^2 \times \frac{2}{3} =$$

$$\left(\left(\frac{3}{4}\right)^2 - \frac{1}{4}\right) \times \frac{1}{4} + \left(\frac{1}{3} - \frac{1}{4}\right)^2 =$$

$$\left(5 + \frac{1}{6}\right)^2 + \frac{2}{5} + 5^2 \times \frac{1}{3} =$$

$$\left(3 + \frac{1}{2}\right)^2 + \frac{1}{2} \times \frac{3}{5} \times 4^2 =$$

$$\left(4 + \frac{1}{3}\right)^2 + \frac{2}{5} - \frac{3}{2} + 2^2 =$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{1}{2} + \frac{2}{3} \times 2^2 =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) = \frac{17}{18}$$

$$\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{3}{4} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \frac{65}{48} = 1\frac{17}{48}$$

$$\left(\frac{1}{4} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{3}{5}\right)^2 = \frac{13}{150}$$

$$\left(\frac{3}{4} + \left(\frac{3}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{3}{2} + \frac{3}{5}\right)^2 = \left(-\frac{341}{100}\right) = \left(-3\frac{41}{100}\right)$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{3}{2} - 5^2 \times \frac{2}{3} = \frac{181}{12} = 15\frac{1}{12}$$

$$\left(\left(\frac{3}{4}\right)^2 - \frac{1}{4}\right) \times \frac{1}{4} + \left(\frac{1}{3} - \frac{1}{4}\right)^2 = \frac{49}{576}$$

$$\left(5 + \frac{1}{6}\right)^2 + \frac{2}{5} + 5^2 \times \frac{1}{3} = \frac{6377}{180} = 35\frac{77}{180}$$

$$\left(3 + \frac{1}{2}\right)^2 + \frac{1}{2} \times \frac{3}{5} \times 4^2 = \frac{341}{20} = 17\frac{1}{20}$$

$$\left(4 + \frac{1}{3}\right)^2 + \frac{2}{5} - \frac{3}{2} + 2^2 = \frac{1951}{90} = 21\frac{61}{90}$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{1}{2} + \frac{2}{3} \times 2^2 = \frac{2059}{150} = 13\frac{109}{150}$$